e

¥

= =

T3 (EpiEEdl)

BFR

M — o R



1/500)

S

75 1 S =1/500)

Jevs -

AEdE
t

(E

TR (kad

ZE G AL

=

MM




iz (LAl - S = 1/500)

23—0R (" 5)

BHK

MR — S EA



=i

K
&
DIty
B
i

26
27
28
X

5 —26 « 27X 4 A ZE"




®FM

X
Jit
I
| B
5|
15
37
38

5 —15K &M T HEM (EAwEdL : S =1/200) 5 — 15X & 522 5 FAL M
(EAsPEdE - S = 1/500)




Ind

25 (EAYEm)

R 1T
AN

2 MM 2 RAMETH (EAMEPE @ S = 1/250)




RES

gz o — <R K

2RMETH (EAFEIL)



RELE A0 ol

6 —12K 2 FMEFH (EAHdL © S = 1/500)

fip

c B o oFEERN

M8



6 —28X LT (LA - S =1/300)




HES

Kig#iRo© —© « o= Ix

“

T e NN NN N

ZE G (EASPEdE 0 S = 1/500)

2]

5=

£






HE=

n

KR o —mRKX

LRMEGTH (L7



ERMZEGTH (Ea®de: S =1/500)

01— O St L RE (FFLH)

op=ip

X 83— o S E M



LRMZEGTH (LA

e

-

=

S = 1/500)

peild

Yoo — o> FiZE A



KT Kigsigo —oXHAHER (n=—\x)




KEQ KiEg#Hmigo—oXNHAHEAR (n=—\«)




S5FK

c 2R G oFEEA

w
Do

[a—y

w
Do

6 —32— 1 XL RMEGTH
(kAL - S = 1/500)

2
X

6 — 31X 4 J AL 22 5 I
(EAMEdErs : S = 1/500)

&

| Ty

6 — 15X £ Ji 2 T I 6 —2AKARAETI (LA S=1/
(S R TR KARIETI (AT : S = 1/50)




HES

FR#EEo -0OFNKX

ERMEGH (LATEIL)



6 —34X M2 EH (EA#IL © S=1/500)




ZEER

E

i ﬁr*
(kA

bk : S =1/500)

e o

6 —50— 2 X £ FRATET
(ExdE © S =1/500)

BEK

=-8 . J e v—oFmht

Ko~ -



= =\
6 — 30K 4 BT

6 —35 « 36X 2 FAZEGTH (LA S = 1/500)




SRS

h
b
i
i
6
|
16

G H (EAHAE 0 S = 1/300)










N

i
b
i
()]
6
|
10




ZES

FREEo - SRIAHER (w=—\—)




S

P

6 —41X L RHETH (EAEIE® - S

6 —19X £ FMMZEFH (EAIEIEHE © S = 1/500)

= 1/200)

X



S

=]
b
iy
]
6
|
26
<

LG (L23PEdEEE S = 1/500)




F1RMEeR GEE»5)

#ik : S=1/500)

=A%

(4



1/500)

S

75 1 S =1/500)

Jevs -

AEdE
t

(E

TR (kad

ZE G AL

=

MM




iz (LAl - S = 1/500)

23—0R (" 5)

BHK

MR — S EA



=i

K
&
DIty
B
i

26
27
28
X

5 —26 « 27X 4 A ZE"




®FM

X
Jit
I
| B
5|
15
37
38

5 —15K &M T HEM (EAwEdL : S =1/200) 5 — 15X & 522 5 FAL M
(EAsPEdE - S = 1/500)




Ind

25 (EAYEm)

R 1T
AN

2 MM 2 RAMETH (EAMEPE @ S = 1/250)




RES

gz o — <R K

2RMETH (EAFEIL)



RELE A0 ol

6 —12K 2 FMEFH (EAHdL © S = 1/500)

fip

c B o oFEERN

M8



6 —28X LT (LA - S =1/300)




HES

Kig#iRo© —© « o= Ix

“

T e NN NN N

ZE G (EASPEdE 0 S = 1/500)

2]

5=

£






HE=

n

KR o —mRKX

LRMEGTH (L7



	57図版
	58図版

